[ Efficiency vs vertpos |

- 1-4+1-|*

L +
LT+ i

10

=
2
N

10 0?
TP vertr (cr%)

[—=— DQM_TT__mKFI-DQM_original
—_— /dataz/leglann|/standa|6ne May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_mod_up

mkFit-DQM_update-mod127

Hatedmod-127

~end —— DQM_TT
Efficiend = DM 1T mKFit-DOM L27-updatemod127

~ 0.2 -
So.a8f i g
o E : :
>0.16
>
8 I
.90.14_—
o C
£0.12
()
0.1
0.08]
0.06]
0.04
0.02

10
LI

Ratio

aH-

0.9

=
TITT[ T[T I T T T
%
. H .
n + n
T
f——
3

Mf

0.l

30 -20 -10 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.2
> C
0.0.18
= E
Eo16
>0 14
CO 12

0.1F
0.08F
0.06F
0.04F

0.02F

efficienc

Ratio

i|- l fi# T'lf

L)
Sim. PV z (cm)

-5



	Contents
	Page 1


